BT TRIA O - HEHHEE X T ﬂﬁﬁkjeﬁosﬁ KIRHE
+H- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 39,031 86,618 41,298 45,320
RIRET1T 6 15 9 6
RIRET2T 28 56 27 29
RIRET3T 179 584 286 298
RIRET4T 408 994 494 500
B 621 1,649 816 833
REH 2,673 6,178 2,888 3,290
L&A 4,212 9,414 4,422 4,992
5E 2,585 5,997 2,922 3,075
B AN 1,266 2,858 1,327 1,531
BERT 1,327 1,983 942 1,041
BER2T 758 1,400 686 714
BHERST 388 859 413 446
g 2,473 4,242 2,041 2,201
BARE 277 673 343 330
= 2,201 5,166 2,452 2,714
hERE 620 1,426 649 777
e 2,469 5,244 2,529 2,715
25 L ET 2,302 5,124 2,439 2,685
B &AL BT 78 159 64 95
HEFILET1T 559 1,194 562 632
HEFILET2T 615 1,349 642 707
HEZFILAT3T 622 1,443 711 732
g 1,874 4,145 1,979 2,166
B & it B Fr ET 677 1,593 776 817
BHEREBET1T 599 1,234 592 642
BHERERET2T 773 1,761 846 915
BHERERETST 784 1,674 770 904
HERERET4T 479 980 469 511
HEHFMHETST 824 1,721 806 915
HEHFHET6T 886 1,971 954 1,017
HEFRET7T 883 1,901 921 980
HERERETST 70 222 105 117
£t| 5298 11464 5,463 6,001
HEF R FET 1,876 3,946 1,918 2,028
S|EFET1T 576 1,543 71 772
S|EFET2T 766 1,796 850 946
S|EFET3 T 731 1,418 642 776
g 2,073 4,757 2,263 2,494
ERE1T 571 1,347 642 705
EIRET2T 390 1,049 528 521
EREIST 481 1,311 640 671
EIRETAT 692 1,508 675 833
EIZEIST 486 1,002 508 494
g 2,620 6,217 2,993 3,224
MEH 2,803 6,304 2,980 3,324
J\THET1T 35 37 14 23
J\THET2T 27 70 34 36
J\THEI3T 49 114 50 64
B 111 221 98 123
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